EECE 340-Signals and Systems
Homework #7

Problem # 1

Consider the following discrete-time sequence;

h(n) = Ar” cos(newyT +6) u(n),
where 0<r</.
a) Find H (z) and specify its region of convergence

b) Let @, = % and plot the pole-zero diagram for H (z).

Problem # 2

Show the following:

a) The Z-transform of x"(n)is X'(z")
b) The Z-transform of x(-n)is X (%)
¢) The Z-transform of a"x (n)is X (%))
d) The Z-transform of nx{n)is - zdi(zl
z

) The initial value x(0) of a causal sequence x(n) is given by lim X(z)

f) The initial value x(0) for a sequence x(n) such that x(n)=0, n>0 is given by
lim X(z).

z—0
In part (c), show how the poles and zeros of X (z) are moved.
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